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If a disc has moment of inertia 1 about
the axis which is tangential and in plane
of the disc. then the moment of inertia
about the axis which is tangential and
perpendicular to its plane will be :

6 L3
3 5
(3) EI (4) Zl

When a mass m is suspended from a
spring. the frequency of oscillation is
found as f. If the spring is cut into two
equal pieces and same mass is suspended
from one of the piece, the frequency of
oscillation in this case will be

(h (2) 2f

. ¢
(3) A2 @) 3

The acceleration due to gravity on the
surface of earth is g The value of
acceleration due to gravity at a height
(from the earth’s surface) equal to half
the radius of the earth will be

2
(1) zero (2) gu
. £
(3) g¢ 4 3

Choose the wrong statement regarding

moduli of elasticity. -

(1) Greater the value of moduli of
elasticity. more elastic is material.

(2) With rise in temperature, elasticity
of material decreases.

(3) For incompressible fluids the bulk
modulus is infinite.

(4) Shear modulus of  material
increases with rise in temperature.

Two spherical balls of same material of
masses m and 8 m respectively, falls in
same fluid. If terminal velocity of first
ball is v. then terminal velocity of
second ball will be
(1) zero

(3) 2v

(2) v
(4) 4v
07
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(3) 41 4) 1l
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(1) 2R (2)
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9.

10.

11.

If 64 raindrops combine into a single big
drop. then ratio of the total surface energy
of the 64 dlD]’lb to that of a single blg_
drop is

(1) 16:1 (2) 81

(3) 4:1 (4) 1:1

A mixture contains | mole of helium
(Cp=25R,Cy=1.5R)and | mole of

hydrogen (C, =3.5R. C. = 2.5 R). The
value of C,, for the mixture is
(I) 2R (2) 3R

o 7

(3) 3R (4) 3R

A Camot engine works between the

temperatures 227° C and 127° C. If the work

output of'the engine is 107 ], then the amount

of heat rejected to the sink will be :

(1) 1x10% (2) 2x104)

(3) 4104 (4 5-10%

An ideal black body emits maximum

intensity of radiation of wavelength 500

nm at temperature 1227 “JC It its

temperature is increased by 10 °C then the

maximum emission wavelength will be

(1) 300 nm (2) 350 nm

(3) 410 nm (4) 425 nm

A train  approaches a stationary
%

with a velocity of 7= 50 Of

velocity of sound. A sharp blast is

blown with the whistle of the engine at

equal intervals of one second. The

interval between the successive blasts as

heard by the observer is

I

observer,

(1) 508 ) =
19 0
(3) 508 (4)

ThL focal length of a concave mirror is f
in air. Its focal length in water (refractive

4
index :’) will be

. 3.
(1) f (2) Z’r
4 7
(3) gf 4) gf
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(1)

.40
(3) 3 uF (4)

Tex 3g #, yrh (I faam) A fd 33,
cm@‘ﬂmﬁﬁﬂ% | (3 wfe R.ﬁiﬁA
¥ fiepe araTer A W1 2) | Afg avema sk
X (3t o5 RR B % fere 30T H o1 2) &
AR FAE 12 Q o1 AR Sed & a1 YATh
51.9 cm@flql'm'é’m% | X HT T8

(1 13.5Q (2) 27.0Q
(3) 25.5Q (4 3.0Q

Mﬁwﬁﬁmﬁmmﬁm

10 uF

* 11fey 3 T Iea= R U hEeTl @ -

(1) dEisTE (2) UTHET I
(3) SHEAMIUNE  (4) HIEEIWE
0.015 m> &%et 17U (Ie1F) 030 T

¥ HguE g &7 °§ @ @ | Al
TEHT T & A 37° HIV ST R A I

§ @ Rl T R
(nH ™ (2) 2.7 mWb
(3) 36 mWb (4) 45 mWb

12.

14.

16.

17.

The angular magnitication of microscope
is 400 when the final image is formed at
infinity. The optical tube length is 16 cm
and the focal length ot objective is 5 mm.
The focal length of the eye piece is

(1) 0.25cm (2) 1.0cem

(3) 2.0cm (4) 40cm

If a charge q is placed at one corner of
cube, the flux through the cube is

9 9
1 2
(4 €y ) 4,
a4 : .
(-’) 880 (4) ZCro

A network of four 10 UF capacitors Is
shown in figure. The equivalent
capacitance of the network between points
Aand Bis

[ 1
-

A B
30

() TpF (2) 40 uF
40

(3).?pF (4) 10pF

In a meter bridge. the null point is found
at a distance of 33.7 cm trom terminal A
(known resistance R is connected to gap
near to A). If a resistance of 12 Q is
connected  parallel  to  unknown
resistance X (which is connected to gap
near to terminal B), the null point is
found at 51.9 cm. The value of X is

(1) 13.5Q (2) 27.0Q
(3) 255Q 4) 3.0Q
The electric current produced by

convective motion of metallic fluid in
the outer core of the earth is known as
(1) Seeback eftect (2) Thomson effect
(3) Dynamo effect (4) Meissner eftect
A circular loop of area 0.015 m? is
placed in a uniform magnetic field of
0.30 T. If its plane makes an angle of 37°
with field, then the magnetic flux
through the loop is
(1) zero

(3) 36 mWb

(2) 2.7mWb
(4) 45mWb
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wy gy

(I)y 0.01 A (2) 0.02A
(3) 0.024 A (4) 0.04 A

18.

19.

20.

21.

22,

A light bulb and an open coil inductor
are connected in series to an ac source
as shown in figure. Now an iron rod is
inserted into the interior of the
inductor. The glow of the light bulb

— v

(<)
N\
(I) decreases
(3) unchanged

(2) increases

(4) bulb will be fused
Let light of wavelength 600 nm is
coming from a star. The limit of
resolution of a telescope  with
objective lens of diameter 254 ¢m will

be nearly

(1) 5.8 %1077 radian
(2) 2.9 %1077 radian
(3) 1.4 <1077 radian
(4) 0.72 x 1077 radian

The ratio of energies of two photons is
1:2 then ratio of their momenta will be

(1) 1:42 (2) 1:2
B) 1: 12 “4) 1:4
The correct relation between half life

(T) of radionuclide with its mean life
(7) is expressed as

T In?
- — 7 _
() T In? () T T
(3) T=tmn? (4) T=tlog,’
For given circuit, the forward

resistance of p-n junction is 50 Q and
reverse resistance is infinite. Then

current flowing through 100 Q
resistance is
1300y
—DF—wa—
[500
y Ty
(1) 0.01 A (2) 0.02A
(3) 0.024 A (4) 0.04 A
u]
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23.

24.

25.

26.

For an amplitude modulated signal.
w,, and ©, are angular frequency of
message signal and carrier wave
respectively then AM signals contains
frequencies

(1) only

"

(2) o, and ®,,

(3) (0.~ o,

m) and @y,

4) (0. - o), o, and (O, + )

m

To get an output Y = 0 in given circuit.
which of the following sets of inputs
will be incorrect ?

A
B >_—I_D""
e [
A B C
(H 1 0 1
@1 1 0
(3) 0 1 0
4 1 0 0

The reduced mass ot hydrogen atom is
(Here m — mass of electron ; M — mass
of proton)

m .M

(3) m(i+'ﬁ) 4) —=

-

A particle of mass m; moving with u,

velocity collide with another particle
of mass m, which is initially in rest. If
collision is perfectly inelastic then the
fractional loss in the kinetic energy is

] l. 2 2 E
(1) 4 ™Y () m,

m, m,
(3) m, + m, (4) m, + m,

07
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(1) AR = |
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(3) TR S |

(4) vgS s T a9 ge e |

T QI fiehrar 1 aaehet aeier
d2v
dt?
I w, >> r & @ g, ey =i

mmﬁg‘;wm,%

dx
+ 2r a + 0)”3.\' =0

, A o L
(13 5 @

o) % @ 3

Shif<ish =Tferd STf srereen § =i
e % foreo W@ =Te 91 % O
HATR I

(1) 0 (2)

3) =

10 m &7l U 15 kg So8HM s THETH WY
! SEATR TH §g ATUR ¥ T2 91l 2 |
5 kg o1 Uk scTeh W o Gard RR & Srer siran
% wl%mﬁ%ﬁa@rﬁhmm m?ii"'l%ﬁf"ﬁ
IR TG I~ Y Il B O Wt %
T8 ot ugem W wie s e g

(1) 0.02m (2) 0.04m

(3) 0.08 m (4) 0.16 m

Tsh WHI G0T 1 3TH A T v
AT o 8 T HT ool AT R -

(p HTEAT T G B)

M 3petA? (2

Bl— 19—

(3) 7 pPe’A 4)

27

28.

29.

A horizontal platform is rotating with
uniform angular velocity around the
vertical axis passing through its centre. At
some instant a viscous fluid of mass m is
dropped at the centre and is allowed to
spread out and finally fall out. The angular
velocity during the period

(1) decreases continuously

(2) decreases initially and increases again
(3) increases continuously

(4) increases initially and decreases again

The differential equation of an
oscillating system is
dz'\-+7 £+ ca=0
d[2 i g dt (!)“.‘."“
If @, >> r then the time in which energy
Do .
becomes p of its initial value is
L gy o
bh). & (2) 3,
1 2
8 = @) =
The  phase  difference  between

displacement and driven force of forced
oscillator in critical driving frequency
condition will be

(1) 0 @5
. 3n
G) n OF: -

A uniform rope of length 10 m and mass
I5 kg hangs vertically from a rigid
support. A block ot mass 5 kg is attached
to the free end of the rope. If a transverse
pulse of wavelength 0.04 m is produced
at the lower end of the rope, the
wavelength of the pulse when it reaches
the top of the rope will be

(1) 0.02m (2) 0.04m

(3) 0.08 m (4) 0.16 m

The amplitude of a progressive wave is
A and angular frequency is ® then
energy density of the wave is (p is
density of medium)

1 2 23 1 a2
() 3 pe*A? (2) 7 pw?A
L 5 [
() 7 prorA 4) 5 p-wA
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g 37073 o1 R WTEA TR T[T b AT
el T T R | TR n R
!

3 2) =

(3) 2 (4) =2

3 9 T BTSN U] T T e WA
T 47 °C W S ] F T AT
el T o FHE g 2

(1) 20°C (2) 20K

(3) 5.8°C (4) 273 °C

2 Ty FeT gug i d W SAfqeh
Aot (yrEq) §, TR ISR A ], TG 6 39
formg X e 1, 2 | Fomr formg W werm=m
/4 2 38 famg R oftera 2t -

(1) YA (2) Iy/4

(3) 1,2 4) 1,

eI Td U o fm % e, = At
e 1§ 3rEt <ht Hier fafire e 9w |
i ndff T % FFER TRafia g @ |
T nHIAHAE :

(1) = @) 1

(3) 2 4) 3

us e % R, shife a9 (T) @
srifeh 81 (H ) vy wefifa fopen st

L o Al e Tt fireeet & wuw
foratt & # o genfea srewna A
T Bt
(a—mﬁ@aﬁﬁimﬁﬁqﬁ)

(1) L/a (2) 2L%a

(3) L¥a (4) La

32.

w
7Y

2]
th

37.

The mean free path of gas molecules is
directly proportional to n" power of
diameter of molecules. Here n is

1 45
(1) 2 (-—-) '”2
3) 2 4) -2
At what temperature. the rms velocity of
hydrogen molecule will be equal to the rms
velocity of oxygen molecule at 47 °C?
(1) 20°C (2) 20K
(3) 38°C (4) 273°C
In a interference pattern with two identical
coherent sources, the intensity on the
screen at a point where path ditterence is
A.is 1. The intensity at a point where path
difference is A/4. will be
(1) Zero (2) 1,4
(3) 1,2 ) 1,

According to Dulong and Petit’s law. the
molar specific heat of solid at high
temperature range. varies with n'" power
of absolute temperature. Here value of n
18

(1) Zero (2) 1

(3) 2 4 3

For a superconductor. relation between
transition temperature T and critical
field H. is shown as

o mnl

T
@) Ho=H|! 5]

T
(3) HC=H,, T" ji
o (5]

The total numbcr of states in first
Brillouin zone of one dimensional crystal
of length L will be

(a — distance between lattice points)

(1) L/a (2) 2L%a

(3) L¥a (4) La

07
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\LC  famr 2
() MOLT!
(:-') M(ILITI

T 200 m &= 3 600 m = g A
TSI B | AT 37 Y =T 36 km/h R @Y
S G o YR S & o0 o 2

(1) 60s (2) 30s
(3) 80s (4) 40s

T&F Tfd & foe wEem S (H) @
IS FTeT (T) ¥ |t gray A ;
(1) H=8¢gT?sin®

@ miLIT!
(4) MOLOT!

G) H=%g%ne
(4) H=Tcot0

afe & wfew A = 61 - 8} + 4k qen
— s P Fat

B =4i-06j + pk WeR &F=ad g dl p
FIAAE

(1 -9
(3) +4

(2) -18
4) 0

U g ot Wl . F, ae Fy ) e
% 37ef7 greraeen § 2 |t P 5 & e
Wﬂ'ﬁm:

(1) Fi+F+F, =0

(2) |F|-F,|<F;<|F, +F,

(3) F,. F, 71 F, @ frqst

YSTIHT & Wi e <1 wha 2 |
(4) F,+F,+F,=0

1500 kg < SR T 37 36 km/h &
72 kmfhamaaﬁﬁ%mwam?%
(1) 45x10%) (2) 225%10°J
(3) 75 =10%] (4) 45x10%)

39.

40.

41.

42.

The dimension of'\/ LCis
(1) ML'T! (2) MLIT-!
(1’) MHLITI (4) MULHTI

A 200 m long train passes over a 600
m long bridge. It the speed of train is
36 km/h. the time taken by the train to
cross the bridge is
(1) 60s
(3) 80s

(2) 30s

(4) 405
Choose correct relation between the
maximum height (H) and time of
flight (T) ot a projectile motion :

(1) H=8¢gT?sin®

]
(2) H=ggT?
B el

8sinh
(4) H=TcotB

If two vectors ;\) = 6] - 83\ + 4k and
B=4i- 63\ i pﬁ are mutually
perpendicular. then value of p is

(1y -9 (2) -18

(3) +4 4) 0

A body is in equilibrium under the
action of three forces F,. F, and F,.
Then choose the wrong statement
among the following :

e I S
(1) F,+F,+F;=0
(3) IF| - FJl = F_: = [F| + Fg‘

- = =
(3) F,.F,and F; can be represented

by the three sides of a triangle.
(4) F,+F,+F,=0

The work done to increase the velocity
of a 1500 kg car from 36 km/h to
72 km/h is

(1) 4.5x10%)
(3) 7.5x10%)

(2) 2.25x10%)
(4) 45%x10%]
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Srefifad § A HF 91 G5 RIARH & 7
(1) [CuCN)F (@) [PCLT

(3) [Co(NHy) " (4 [Co(NH;), C1,)*
fraffgd § ¥ S @1 STHEEAS
Aqfir B 7

(1) KCI.MgCl,.6H,0

(2) FeSO,.(N H4)ESO4.(1H30

(3) KAISO,),.12H,0

(4) KB{(A!C304)3]

Fadi % A S fre Freafafga g a wH
a1 5hH TR TR E 7

(1) 5d.,6p.,7s (2) Ss.4d.5p
(3) 0s. 4t, 5d (4) 0s, 5p, 4f

ok ATV T Z = 92 AT A = 238 R

(1) Pa 2) U

(3) Np (4) Pu

O,F, # ifaefisr bt ATafierTor Fe 2 -
(1y -2 (2) +1

(3) +2 4) -1
HCO.,~ o1 T &1 & -

(1) Coy™ (2) COy

(3) H,CO; (4) H,CO;
HTa S pH &

{1y 98 (2) 6.4

(3) 6.8 4) 7.4

If werm: Ta: afdd 8 A AG @

(1) AG=0 (2) AG>0

(3) AG<0 (4) AG=AH
afe wh g o1 3 3 Freeefientor g @
A Tt

(1) et | (2) ¥ 8 |
(3) TN | (4) & sger |
frafafga rfvfra & fora wfieftst &1

TR TR ?

2Cu,0,, + Cu,S,,— 6Cu, + SO,

(1) IR (2) TR

(3) TS (4) G SB-FHTES
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Which of the following complex is
heteroleptic ?

(1) [CuCN) @) [PCL)*

(3) [Co(NH;)J*" (4) .[Co(NHy), CL)
Which of the following is a

co-ordination compound ?

(1) KClMgCl,.6H,0

(2) FeSO,.(NH,),80,.6H,0

(3) KA/(SO,),.12H,0

(4) K,[(AIC,0))]

Which of the following order is not
correct for tilling of orbitals ?

(1) 5d.6p.7s (2) Ss.4d, 5p

(3) Os.4f.5d (4) 6s, 5p. 4f

The atom with Z = 92 and A = 238 is:

(1) Pa (2) U

(3) Np (4) Pu

In O,F, the oxidation number of oxygen
is:

1) —2 ) +1

€3) +2 4) -1

The conjugate base for the HCO;™ is

(1) COy* (2) COy

(3) H,CO; (4) H,CO4~

pH of Human blood is :

() 7.8 (2) 6.4

(3) 6.8 4) 74

If the process is spontanecous then AG is :
(1) AG=0 (2) AG>0

(3) AG<0 (4) AG=AH

If a liquid crystallises into a solid, entropy
will be :

(1) increases

(2) decreases

(3) zero

(4) remains unchanged

In the following reaction, which species is
undergoing reduction ?

2Cu,0, + Cu,S ,—> 6Cu, + SO,

(2) Sulphur

(4) Sulphurdi oxide

(1) Copper
(3) Oxygen

07



60.

6l1.

62.

07

T FortH 1 FrerfeiRad g # uig
9 B8 HERI I HA: 918 ST & ;

(H 12,12 (2) 12.20
(3) 20.20 (4) 20.12

frferfiea @ @ %5 w1 i o e § 7
(1) sHise (2) wITEe

(3) URERE  (4) TIoiETEe
CH;CH, 8 (CHS,),C- 3775 w18 8, %o 8

(1) IFEIIE  (2) I 99T
(3) ﬁaﬁﬁﬁmm (4) fa-wgmm
RgN:%:
(1) SFRA-FE  (2) AhH-T&
(3) Hh qoih (4) HTSERITEA
| COCH,

@ + cH.cocs ) +HCY

: AICT,. A
afirforan ° fsfer Arcr, 2
(1) 39 & (2) W A
(3) MUH-E&  (4) TH oI
Freforiaa o & iR @1 sgete divgg S5 & 7
(1) = (2) difereesda
(3) Seherrge (4) faainfi=m
I dgs 91 U2 ° IwANt @ qen ufrele
TTghict Ue Afeteh 37t @ G 2rar 2
(1) SHH (2) Sehelrge
(3) vt (4) forea
T S F@R ! HH HA 2, FEAT

(1) wifsiegie (2) qfcredt
(3) Whumfes  (4) ghostfas

gfersr &mar aftwy &
(1) TeareH (2) EEmEERE

(3) TR (4) W=t
fraferfiaa 8 @ smsv=rh whu 2
(1) (2) T
(3) HIee™ (4) wFE

11

n
n

60.

6l1.

62.

Buckminster  fullerene contains
following numbers of five and six
membered rings respectively :
(1) 12,12 . (2) 12,20
(3) 20,20 (4) 20,12

Which of the following is an oxide of
copper ?

(1) Bornite

(3) Pentlandite

(2) Cuprite

(4) Anglesite
(CH;),C- is more stable than CHCH,:
due to : '

(1) resonance etfect (2) inductive eftect
(3) mesomeric effect (4) hyper conjugation
R;N:actas :

(1) electrophile
(3) ftree radical

(2) nucleophile
(4) carbanion

In reaction
COCH,

@ & CHCOC anhvdrous @
' AICI

the anhydrous A/C/3 is acting as :
(1) Lewis base (2) Lewis acid
(3) Nucleophile (4) Free radical

+HC/,

Which of the following polymer is
thermosetting polymer ?

(1) Terylene (2) Polystyrene
(3) Bakelite (4) Neoprene
Polymer which is used in paints and
synthesised by ethylene glycol and
phthalic acid is
(1) Dacron
(3) Polystyrene

(2) Bakelite
(4) Glyptal

Drug which reduce fever is known as
(1) barbiturates (2) antiseptic
(3) antipyretic (4) antibiotic
Antifertility drug is :
(1) aspartame (2)
(3) novestrol 4)

soframicine
prontosil

Non-reducing the
following is : ;
(1) Glucose (2) Sucrose

(3) Maltose (4) Lactose

sugar among
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frefefaa § @ ® @1 wrpfas WA
T YT FAThE § 7

(1) Yenta (2) TTEEH

(3) Sef= (4) e 3na
Fiftrsirur i AH T anft

(1 I (2) =RUTcH

(3) G-TcH (4) A"~

a8 verd o 38 6 Branfierar =
u2 &, FEA &

(1) FrEs (2) ave®

(3) fowre (4) TRE®H
frerfefiga § € S 91 e 1 TaEHS
SQEF 2 7

(1) TRl
(2) UifeTeieS ST3ihTae

(3) S 1gee

(4) 3AsA

frafafea 8 @ w9 € aig T
FIRERI3T & faeh v 99 g | «ren
IA B S ?

(1) =R (2) ¥

(3) hefrm (4) IEH

Frerforfiga # @ = o 9 smh-afeen
HIqErii g ?

(1) diferm 2) f=H

(3) WA (4) TH
[Zn(NH,),]2* i sarfafa

(1) Fagaet | (2) fREE
(3) TgEHADE (4) ATHADHI

WINEE 6 gaifus Rl et

TR

(1) +2 (2) +6

3) +4 4) +3
frafefea & & s Agg=F
Tt ST YT A 8

(1) La’ (2) Lu¥*

(3) Nd* (4) Ce’*
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(3) Tetrahedral

Which of the following natural amino
acid is optically inactive ?

(1) alanine (2) glycine

(3) valine (4) aspartic acid

AH of adsorption is always :
(1) zero (2) negative
(3) positive (4) infinite

Substances that decrease the activity
of a catalyst are known as :

(1) controllers (2) promoters
(3) poisons (4) nitiators

Which of the following is chemical
pollutant in water ? -

(1) Acrolein

(2) Polychlorinated biphenyls

(3) Peroxyacetyl nitrate

(4) Ozone

Which of the following metal
interferes in the development and
maturation of red blood cells ?

(1) Mercury (2) Lead

(3) Cadmium (4) Arsenic

Which of the following gas is used in
arc-welding ?

(1) Helium (2) Neon
(3) Argon (4) Radon

The Geometry of [Zn(NH;),]*" is :

(1) Square planar (2) Pyramidal
(4) Octahedral

Most stable oxidation state for
chromium is :

(1 +2 (2) +6

(3) +4 4) +3
Maximum Paramagnetism shown by

the following tripositive ion is :
(1) La** (2): Lu*
(3) Nd** (4) Ce**
07
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o)

(3) CH;-CH,-OH

(4) CH,=CH-CH,-OH
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(1) yom ) fedfm .
3) Y™ (4) g
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(2) 3T BT HOH

(3) AV HT Yeh AT

(4) I3t T fererre

KC/ % T & W areishdl U
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(1) 9 grft, 9 2nft |

(2) s, | B |
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(4) Toeraw fnfose|)
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- (1)

Which of the following element is
essential for Vitamin B,,?

(1) Mo (2) Se
(3) Co (4) Cr
Unexpected activation effect on
substitution  reaction showed by

toluene is due to
(1) resonance
(3) conjugation

(2) tautomerism
(4) hyper conjugation

Inan IR spectra, there is a peak at 1715

cm™!, the compound will be :
(1) CH;-C-CH,

0
(2) CHS—ﬁ—H

0
(3) CH,-CH,- OH
(4) CH,=CH-CH,- OH

[f the rate of reaction does not depends

upon the initial concentration of
reactant, the order of reaction is :

(1) first (2) second

(3) zero (4) third

If a non-volatile solute will be added in
benzene at 30 °C, its vapour pressure will
increases

decreases

remains same

depend upon solute

(2)
(3)
(4)

Molar mass of acetic acid in benzene
is 118 instead of 60 due to :

(1) dissociation of molecules

(2) association of molecules

(3) free movement of molecules

(4) solvation of molecules

On dilution the conductivity and
equivalent conductivity of KC/
changes respectively

(1) decreases, decreases

(2) increases, decreases

(3) decreases, increases

(4) increases, increases
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Which of the following element does not
shows (n — 1) d'" ns* configuration ?

(1) Zn (2) Au
(3) Cd (4) Hg

. 56 3
Number of neutrons 1n gﬁFe will be

(1) 26
(3) 30

(2) 56
(4) 28

Element having Z = 68 is related to :
(1) s—block (2) p-block
(3) d-block (4) f-Dblock

PV .
For Z = RT Z is known as :

(1) Probability factor

(2) Collision factor

(3) Compressibility factor
(4) Boyle point

In pressure vs temperature (Kelvin)
graph at constant molar volume. the
lines of graph are known as :

(1) isobar

(3) isotherm

(2) 1isochore
(4) isotone

Which statement is correct for the
repulsive interaction of electron pairs?

(1) bp=bp>bp-lp>lp-1ip
(2) lp-lp>bp-bp>bp-1lp
(3) lp=lp>bp-lLp>bp-bp
4) bp-Lp>Lp-Lp>b.p-bp

The geometry of BF; will be
(1) Linear

(2) Pyramidal ;

(3) Trigonal planer'

(4) Trigonal pyramidal

07
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Which one of the following is an active
melanine-producing organ/tissue ?

(1) Organ of Bojanus

(2) Osphradium

(3) Ink Gland

(4) Green Gland

Which of the following green house gas
present in troposphere is primarily
essential for sustenance of life on earth ?
(1) Carbon dioxide

(2) Methane

(3) Nitrous oxide

(4) Ozone

‘Which of the following is NOT a

member of chlorophyceae ?
(1Y Chara (2) Ocdogonium
(3) Spirogvra (4) Cladophora

Independent sporophyte is present in
(1) Anthoceros (2) Funaria
(3) Marchantia (4) Adiantum

Lateral roots originate from
(1) Endodermis  (2) Epidermis
(3) Pericycle (4) Medullary rays

Which of the following does not occur
within mitochondria ?

(1) Krebs cycle

(2) Glycolysis

(3) ATP synthesis

(4) Electron transport chain

The number of DNA molecules in each
chromosome is

(1) one

(2) upto 10

(3) more than hundred

~° (4) infinite

9.

Alternate forms of a gene are known as
(1) Tautomers

(2) Isomers

(3) Alleles

(4) Polyploid.
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Which of the following occurs in Meiosis

but not in Mitosis ? Select the correct

answer using the codes given below :

A. independent assortment

B. segregation of homologous
chromosomes

C. crossing over

D. synapsis of homologues

Codes :

(1) A.B.CandD (2) A, Band D

(3) B.Cand D (4) BandC

According to Lamarck the causes of
evolution are

(1) inheritance of acquired characters
and natural selection

innate tendency of organisms to
evolve towards greater complexities
and  inheritance of  acquired
characters

use and disuse of organs followed
by natural selection

generation of variations and natural
selection

(2)

(3)
(4)

The term used for any asexual method of
propagation not involving the normal
production of embryos by fertilization is
(1) Apospory (2) Apogamy

(3) Apomixis (4) Parthenogenesis

Match the following and choose the
correct answer using the codes given
below :

Column I Column Il
A. '‘Gynostegium i.  Mustard
B. Gynobasic style  ii. Hibiscus
C. Papilionaceous iii. Pisum
corolla
D. Monoadelphous  iv. Calotropis
condition
E. Tetradinamous v. Ocimum
condition
Codes :
A B C D E
(1 v iv i i
(2) iv il i i '
(3) ii i v v

@) iv v i i i

07
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. Which

Small circular DNA molecules that are
capable of self-replication are called

(1) Introns

(2) Exons

(3) Plasmid

(4) Transposable elements

Which of the following statements is
incorrect ?

(1) Another name for a gene is cistron.
(2) Point mutation can lead to nonsense
mutations.

In a chromosome, hotspot are sites
where mutations can occur at very
high rate.

Frameshift mutations are caused by
base substitutions.

(3)

(4)

In Daphnia, during oogenesis, the first

meiotic division is suppressed and the

primary oocyte undergoes Il maturation

division. This type of parthenogenesis is

called

(1) Apomeiotic

(3) Meiotic

Centre for heat, touch, cold and pressure

are in

(1) Frontal lobe

(2) Occipital lobe

(3) Parietal lobe

(4) Frontal as well as occipital lobe
both

(2) Mitotic
(4) Arrhenotoky

of the following is not
synthesized from Amino acid precursor ?
(1) Cholesterol (2) Chlorophyll
(3) Cytochrome (4) Heme

The antigen binding site of an antibody
depicts :

(1) Idiotype
(3) Allotype

(2) Isotype
(4) Anti-Idiotype

- Which one of the following is present in

“H™ band of striated muscles ?
(1) Actinomyosin (2) Na ions
(3) Myosine (4) Actin
The blood of Mollusca contains
(1) Potassium (2) Iron
(3) Copper (4) Silver
o
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The “death of neutrophil” means
(1) Endocytosis

(2) Pinocytosis

(3) Necrosis

(4) Aptosis

Heart is not myogenic in
(1) Annelida

(2) Mollusca

(3) Pisces

(4) Amphibia

Cell lacking axons are
(1) Amacrine cells
(2) Kuffer’s cells

(3) Parietal cells

(4) Olfactory cells

The origin of dentine is

(1) Mesodermal

(2) Endodermal

(3) Ectodermal

(4) Endodermal as well as ectodermal

All water soluble vitamins serves as
coenzymes in enzymatic-reactions,
except :

(1) Vitamin B,

(3) Vitamin B

(2) Vitamin By

(4) Vitamin C

The excretory product of earthworm is
(1) only Ammonia and Uric acid

(2) only Urea and Amino acid

(3) only Amino acid

(4) Ammonia, Urea and traces of
creatinine

. Vital stains are used as artificial marker

in fare map construction. Which of the
following is not a vital stain ?

(1) Nile blue sulphate
(2) Janus green
(3) Neilson red copper
(4) Bismark Brown
07
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. Which one of the following is not
correctly matched ?
(1) Ephyralarva — Auralia
(2) Parenchymular larva — Porifera

(3) Cydipped larva — Ctenophora
(4) Rhabditiform larva  ~ Wuchereria
bancrofii

- In amphibians, cells that form the neural
tube come from the
(1) ectoderm
(3) notochord

(2)
(4)

mesoderm
somites

T cells mature in the
(1) thyroid gland
(3) spleen

(2)
(4)
A major function of Golgi bodies is

(1) in light independent photosynthesis
(2) in fermentation

(3) for isolation of electron transport
systems

in modification of proteins

thymus gland
bone marrow

(4)

Which one of the following is not
required for DNA-cloning ?

(1) DNA ligase

(2) A vector

(3) Methylases

(4) Restriction endonucleases

The metabolite that bridges the gap
between glycolysis and Krebs cycle is
(1) oxaloacetate

(2) pyruvate

(3) acetyl coenzyme A

(4) alpha ketoglutarate

The sub-apical elongation in plants is
induced by :

(1) Auxins (2) Gibberellins -
(3) Cytokinin (4) Ethylene

The percentage ot energy that is passed
on from one trophic level to another in
an ecosystem is
(1) 10% (2) 50%
(3) 80% (4) 100 %
The gland associated with the production
ot‘Czl, C,yand C,g steroid is
(1) Testis (2) -Thymus
(3) Adrenal (4) Thyroid
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Which of the following methods is most
useful for the enzymatic amplification
of specific gene segment of DNA ?

(1) DNA hybridization

(2) Nucleotide sequencing

(3) Polymerase chain reaction

(4) Reverse transcription

The biotic interactions, in which., one
organism has an adverse effect on
another is

(1) Mutualism
(3) Amensalism

(2) Commensalism
(4) Cooperation

_ The class of fungi which represents the

link between true fungi and the protists is
(1) Zygomycetes

(2) Ascomycetes

(3) Basidiomycetes

(4) Chytridiomycetes

Which of the following part ot a healthy
plant should be used as explants, to
produce haploid plant ?

(1) Meristem

(2) Pollen grain

(3) Flower bud

(4) Adventitious buds

Mycoplasmas are difterent from the
other prokaryotes by

(1) presence of chitin in cell walls

(2) presence of murein in cell'walls
(3) presence of proteins in cell walls
(4) absence of cell wall itself

The placentation type present in lady’s
finger (Okra) 1s :
(1) Parietal

(3) Superficial

(2) Axile

(4) Free Central
An example of a species concerned with
symbiotic nitrogen fixation is

(1) Pullularia (2) Chlorobium
(3) Azotobacter _(4) Frankia

. Which of the following is not a product

of Recombinant DNA Technology ?
(1) GloFish (2) Bt-cotton
(3) Flavrsavr (4) Dolly
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. Laboratory method is based on which

principle ?

(1) Learning by doing
(2) Learning by seeing
(3) Learning by rote

(4) Learning by intuition

- Which of the following is not a principle

of the use of audio-visual teaching aids ?
(I) Principle of Preparation

(2) Principle of Presentation

(3) Principle of Selection

(4) Principle of Observation

- Which of the following is not a function

of a teacher ?
(1) Planning
(3) Budgeting

(2) Guidance
(4) Counseling

NCF-2005 is prepared by which
organisation ?

(1) NCERT (2) NUEPA

(3) NIE (4) NCTE
. Which document recommended

examination system as flexible and
friendly.in school education ?

(I) National Policy on Education, 1986
(2) Program of Action. 1992

(3) National Curriculum Framework,
2005

National Knowledge Commision.
2007

Which of the following educational
objective is not included in creativity
category according to RCEM method ?
(1) Evaluate (2) Synthesize
(3) Analyze (4) Verify

(4)

- Which of the following option is not

correct in relation to Blue Print of a
question paper ?

(1) Weightage to objectives

(2) Weightage to teaching method

(3) Weightage to type of questions

(4) Weightage to content
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Who propounded Linear programmed
learning ?

(1) Crow & Crow (2) Thorndike

(3) B.F.Skinner (4) S.S.Stevens

. Which of the following is not included in

Emotional skills under CCE ?
(1) Reduction in fear

(2) Increase in learning

(3)" Increase in empathy

(4) Reduction in anger

“Science and Mathematics should be
taught on a compulsory basis to all pupils
as a part of general education during first
ten years of schooling.” Who suggested
this -

(1) Kothari Commission

(2) - Yashpal Committee

(3) Ishwarbhai Patel Committee

(4) Mudaliar Commission

Which of the following 'is not a safety
equipment ot laboratory ?

(1) Fire extinguisher

(2) Bucket filled with sand

(3) Blanket

(4) Cardboard box

Taxonomy of educational objectives is
categorized in how many domains ?
(h 2 2 3
(3) 4 4) 5
. The highest level  behaviour in

Psychomotor domain is
(1) Stimulus (2) Control
(3) Coordination (4) Habit formation

Who gave the thought of developing

scientific  temper ~and  removing

superstitions in the society ?

(1) National Policy on Education, 19806

(2) Kothari Commission, 1964

(3) Mudaliar Commission. 1953

(4) University Education Commission,
1949 :
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Nature of Science can be explained by
the interaction of -

(1) Knowledge — Process — Society

(2) Knowledge — Matter — Society

(3) Process — Reaction — Understanding
(4) Process — Awareness — Analysis
Furst's paradigm indicates the inter-
relationship between

(1) Educational objective — Specific
objective — Writing procedure
Educational objective — Leaming
experiences — Evaluation procedure
Educational objective — Knowledge
objective - Understanding
procedure

Educational objective — Cognitive
objective — Practical procedure

(4)

“Science can justify its place in the
curriculum only when it produces
important changes in young people —
changes in their ways of thinking, in
their habits of action and in the values
they assign to what they have and what

- they do.” Who gave this statement ?

(1) Bloom & Simpson
(2) Bloom & Crathwohl
(3) Thurber & Collette
(4) Thurber & Campbeel

Comprehension does not involve :
(1) Translation (2) Composition
(3) Interpretation (4) .Extrapolation

Which law is not related to project
method ?

(1) Law of'readiness

(2) Law of exercise

(3) Law ofeffect

(4) Law of heredity

. The specific weak area of student in a

science subject can be identified by :
(1) Written work

(2) Oral work

(3) Diagnostic test

(4) Remedial teaching

—— ————
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